
Scale CI model c1 Fit Model Scale Param.

Left-handed −0.017 0.0047 0.0001 0.004 0.002

Λ = 5 TeV Vector-like −0.009 0.0026 0.0001 0.002 0.001

Axial vector-like −0.009 0.0025 0.0001 0.002 0.001

Left-handed −0.068 0.019 0.003 0.016 0.009

Λ = 10 TeV Vector-like −0.037 0.011 0.002 0.008 0.006

Axial vector-like −0.036 0.011 0.003 0.008 0.005

Left-handed −0.116 0.033 0.006 0.026 0.015

Λ = 13 TeV Vector-like −0.063 0.018 0.004 0.015 0.008

Axial vector-like −0.062 0.018 0.003 0.014 0.008

Left-handed −0.28 0.08 0.01 0.06 0.04

Λ = 20 TeV Vector-like −0.15 0.04 0.01 0.04 0.02

Axial vector-like −0.15 0.04 0.01 0.04 0.02

Left-handed −1.8 0.53 0.08 0.42 0.23

Λ = 50 TeV Vector-like −1.0 0.28 0.05 0.23 0.13

Axial vector-like −1.0 0.29 0.04 0.23 0.13


